
03/23 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

.c
om

   
Te

l. 
+

49
(0

)4
25

4 
- 9

31
50

 
K

ai
se

r 
&

 K
üh

ne
 F

re
iz

ei
tg

er
ät

e 
  D

-2
73

24
 E

ys
tr

up
C

Installation
Scale Date

In
st

al
la

tio
n

Page

0-41310-500
Item-No. Description

Combi slide 1:50 1/6

6. For installation of the pre-assembled components and/or single
parts, the screws slightly have to be lubricated with installation
paste

Tighten all screws after having aligned all components.

Necessarily insert all attachment parts before tightening the
screws. It is NOT possible to insert them afterwards.

AutoCAD SHX Text
detail of check mark

AutoCAD SHX Text
post

AutoCAD SHX Text
1:5

AutoCAD SHX Text
play level check mark

AutoCAD SHX Text
platform

AutoCAD SHX Text
platform fastening 1:10

AutoCAD SHX Text
middle

AutoCAD SHX Text
mounting bracket

AutoCAD SHX Text
post

AutoCAD SHX Text
top

AutoCAD SHX Text
bottom

AutoCAD SHX Text
drill hole position:

AutoCAD SHX Text
1. Assign a device location considering the space requirement (impact area). Assign a device location considering the space requirement (impact area). Due to a possible sliding surface heating, please see to a north-east orientation (northern hemispere) of the slides or provide half-shade of trees. For countries in the southern hemisphere, see to a south-east orientation. 2. Excavate soil for foundations, according to drawing. Excavate soil for foundations, according to drawing. Please note: To achieve maximum stability and a safe installation, a moderate level of soil solubility is required. 3. Pour in a drain layer of gravel of approx. 10 cm thickness between the Pour in a drain layer of gravel of approx. 10 cm thickness between the bottom of the posts and plain base of foundation. 4. Insert reinforcing steel into the corresponding holes of the posts. Insert reinforcing steel into the corresponding holes of the posts. 5. Place posts type A according to the corresponding number (see foundation Place posts type A according to the corresponding number (see foundation layout) into the respective foundation hole. Play level mark (=aluminium blind rivet) complies with the installation depth. Align every post by means of the play level mark facing into the same direction (see detail or foundation layout).  ! Screw together platform and posts by using the middle hole in the mounting brackets. Install the slide exit with the given inclination in sliding direction so that rain water can drain off (see foundation detail). Screw connections see details in attached list. 7. Grout foundations with compressed concrete C20/25, chamfer and round Grout foundations with compressed concrete C20/25, chamfer and round off the edges, cover the foundations with a surface which meets the requirement for impact attenuation so that the critical fall height of the surfacing is equal to, or greater than, the free height of fall of the equipment (acc. to EN 1176-1). The run-out section fall zone must have surfacing with a critical fall height of at least 1000mm (acc. to EN 1176-3). 8. Release for play after concrete foundations have set. Release for play after concrete foundations have set. 9. According to maintenance instructions, check all screw connections after According to maintenance instructions, check all screw connections after 4-5 weeks and retighten, if necessary. Please ensure that all special tools supplied (e.g. Allen key for secured Allen screws etc.) and all specific documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the persons responsible. 



03/23 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

.c
om

   
Te

l. 
+

49
(0

)4
25

4 
- 9

31
50

 
K

ai
se

r 
&

 K
üh

ne
 F

re
iz

ei
tg

er
ät

e 
  D

-2
73

24
 E

ys
tr

up
C

Installation
Scale Date

In
st

al
la

tio
n

Page

0-41310-500
Item-No. Description

Combi slide 1:50 2/6

· · · · ·

· ·
B

ef
or

e 
as

se
m

bl
y,

 s
lig

ht
ly

 lu
br

ic
at

e 
th

e 
sc

re
w

s 
w

ith
 th

e 
en

cl
os

ed
 in

st
al

la
tio

n 
pa

st
e.

AutoCAD SHX Text
Some additional instructions for the installation of         K&K Hill slides The specified installation height of the slide must be observed (sum of the height of the hill plus starting platform). The starting section of the chute must be installed horizontally. All (straight, curved or waved) sections of the slide assembly must be installed with the correct inclination (measured in the centre of the slide trough). This does not apply to the run-out section. The slide support has to be installed such that it effectively supports the slide, that the turns (curves) are properly positioned without a deviation from the inclination specified .  The run-out section must be installed with an inclination of 5°.

AutoCAD SHX Text
playing surface mark

AutoCAD SHX Text
Hints for the flange connection of the slide parts: First of all, unscrew the transport protection (wooden slats) from the slide parts. The stepped ends of the handrail tubes have to be plugged into each other. Adjust both flange surfaces precisely to one another. The sheet metal surfaces and the trough joint must not be displaced against each other. The elongated holes in the flanges facilitate a precise alignment of both slide parts. Screw together the two flanges. The hand deflector (underneath the handrail) is provided with two welded nuts, therefore, the number of nuts is smaller than the amount of the other fastening material.



03/23 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

.c
om

   
Te

l. 
+

49
(0

)4
25

4 
- 9

31
50

 
K

ai
se

r 
&

 K
üh

ne
 F

re
iz

ei
tg

er
ät

e 
  D

-2
73

24
 E

ys
tr

up
C

Installation
Scale Date

In
st

al
la

tio
n

Page

0-41310-500
Item-No. Description

Combi slide 1:50 3/6

N
ot

e:
 D

ue
 to

 th
e 

sl
id

e 
co

ns
tr

uc
tio

n,
 th

e 
co

ur
se

 o
f t

he
 h

ill
 m

us
t b

e
sh

ap
ed

 s
uc

h 
th

at
 th

e 
fa

ll 
he

ig
ht

 w
ill

 n
ot

 e
xc

ee
d 

2 
m

.

· · ·

AutoCAD SHX Text
Exemplary course of the hill Please consider planning specification and/or the instructions of architect on site. Cut slide support acc. to requirements or dig deeper acc. to course of the hill.

AutoCAD SHX Text
play level

AutoCAD SHX Text
Due to forced movement, the entire impact area must have impact attenuating surfacing. The critical fall height of the surfacing shall be equal to, or greater than, the free height of fall of the equipment (see EN 1176-1). Depending on the site profile, the free fall height (hx) and the size of the impact area result from the vertical distance between the bottom of the chute and ground level  The surfacing material for the impact area within the sliding section must meet the requirements given in table 4 (see EN 1176-1). The shock-absorbing characteristics of any other material to be chosen must be certified in accordance with EN 1177. The surface around the run-out section shall have a critical fall height of at least 1000mm and shall be provided to at least 2000 mm beyond the run-out section (acc. to EN 1176-3).



03/23 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

.c
om

   
Te

l. 
+

49
(0

)4
25

4 
- 9

31
50

 
K

ai
se

r 
&

 K
üh

ne
 F

re
iz

ei
tg

er
ät

e 
  D

-2
73

24
 E

ys
tr

up
C

Installation
Scale Date

In
st

al
la

tio
n

Page

0-41310-500
Item-No. Description

Combi slide 1:50

Pl
ug

-in
 b

as
e 

fo
r s

lid
e 

su
pp

or
t

1:
20

4/6

AutoCAD SHX Text
gravel

AutoCAD SHX Text
concrete

AutoCAD SHX Text
type D (3x) 1:20

AutoCAD SHX Text
play level

AutoCAD SHX Text
slide support

AutoCAD SHX Text
base

AutoCAD SHX Text
plug-in base 

AutoCAD SHX Text
slide support

AutoCAD SHX Text
to be mounted as follows: If necessary, shorten stainless steel slide support to the required length (with adequate appliance e.g. angle grinder). Insert base from below into the stainless steel post.

AutoCAD SHX Text
type E (1x) 1:20 

AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete

AutoCAD SHX Text
concrete

AutoCAD SHX Text
play level

AutoCAD SHX Text
type  B (2x) 1:20

AutoCAD SHX Text
concrete

AutoCAD SHX Text
play level

AutoCAD SHX Text
type C (1x) 1:20

AutoCAD SHX Text
0,40

AutoCAD SHX Text
0,40

AutoCAD SHX Text
0,40

AutoCAD SHX Text
45°

AutoCAD SHX Text
R0,10

AutoCAD SHX Text
0,20

AutoCAD SHX Text
playing surface

AutoCAD SHX Text
reinforcing steel

AutoCAD SHX Text
gravel

AutoCAD SHX Text
concrete

AutoCAD SHX Text
0,35

AutoCAD SHX Text
type A (6x) 1:20

AutoCAD SHX Text
play level

AutoCAD SHX Text
 0,12

AutoCAD SHX Text
check mark



03/23 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

.c
om

   
Te

l. 
+

49
(0

)4
25

4 
- 9

31
50

 
K

ai
se

r 
&

 K
üh

ne
 F

re
iz

ei
tg

er
ät

e 
  D

-2
73

24
 E

ys
tr

up
C

Installation
Scale Date

In
st

al
la

tio
n

Page

0-41310-500
Item-No. Description

Combi slide 1:50 5/6

0,
00

0,00

AutoCAD SHX Text
E

AutoCAD SHX Text
play level check mark

AutoCAD SHX Text
A

AutoCAD SHX Text
001

AutoCAD SHX Text
post inscription

AutoCAD SHX Text
reinforcing steel

AutoCAD SHX Text
1273909-001

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
002

AutoCAD SHX Text
004

AutoCAD SHX Text
003

AutoCAD SHX Text
A

AutoCAD SHX Text
005

AutoCAD SHX Text
A

AutoCAD SHX Text
006

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
D

AutoCAD SHX Text
D

AutoCAD SHX Text
+1,40



03/23 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

.c
om

   
Te

l. 
+

49
(0

)4
25

4 
- 9

31
50

 
K

ai
se

r 
&

 K
üh

ne
 F

re
iz

ei
tg

er
ät

e 
  D

-2
73

24
 E

ys
tr

up
C

Installation
Scale Date

In
st

al
la

tio
n

Page

0-41310-500
Item-No. Description

Combi slide 1:50 6/6

· ·

10
,7

9
14

,2
9

3,83
6,82

5
7 

m
²

A
n 

in
st

al
la

tio
n 

do
cu

m
en

ta
tio

n 
sc

al
e 

1:
50

 c
an

 b
e 

su
bm

itt
ed

 o
n 

re
qu

es
t.

D
ue

 to
 th

e 
fo

rm
at

 s
iz

e,
 th

is
 in

st
al

la
tio

n 
is

 n
ot

 to
 s

ca
le

 (
ap

ar
t f

ro
m

 s
in

gl
e 

de
ta

ils
).

P
le

as
e 

re
fe

r 
to

 th
e 

di
m

en
si

on
s 

in
di

ca
te

d.

P
le

as
e 

no
te

:

AutoCAD SHX Text
The size of the impact area depends on the course of the hill. Example of a maximum fall height of 1,50 m.

AutoCAD SHX Text
hatched area:  free from obstacles without requirement for shock-absorbing properties



Item:

Location:

Order:

Building Project:

041310500
Combi slide

List of screw connections

1295337

Page 1 / 4

Platform fastening to stainless steel post,6 x SFES1200001
nut on the side of the platform

per SC Total K&K-Item Marking

Lock nut M12 DIN985 A21 x 6 x 3430021
.

Cheese head screw with pin M12 x 1251 x 6 x 2030651
.

Standard bolting of attachment parts36 x SFES1210001
(except platforms) to stainless steel posts

per SC Total K&K-Item Marking

Cheese head screw with pin M12x1401 x 36 x 2030168
.

Slide run-out section (midi) stone bolt assembly4 x SFXS1070008

per SC Total K&K-Item Marking

M12x160
Set of stone bolts for slide run-out section1 x 4 x 1070365

.

Climbing post fastening to platform joist2 x SFXS1230004

per SC Total K&K-Item Marking

hexagon head cap screw M12 x 75 DIN931 A21 x 2 x 3400414
.

red protective screw cap - upper part, M121 x 2 x 3300055
.

Washer Ø 13  DIN125  A21 x 2 x 3430025
.

colour: red/RAL 2002
Screw cover cap, flat,  M 12  PA6 P1 (lower part)1 x 2 x 3300045

.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

041310500
Combi slide

List of screw connections

1295337

Page 2 / 4

Slide support post below hill slide6 x SFAS1070004

per SC Total K&K-Item Marking

Washer Ø 13  DIN125  A21 x 6 x 3430025
.

 safety coated thread
Dome head security bolt M12x25 PinHexagon A21 x 6 x 3400622

.

Flange connection of hill slide sections11 x SFAS1070012

per SC Total K&K-Item Marking

Washer Ø 10,5 DIN125 form B A22 x 22 x 3430014
.

hexagon cap nut  M10 DIN986  A21 x 11 x 3430011
.

Cheese head screw  M10 x 30 DIN912 A21 x 11 x 3400162
.

Flange connection of hill slide sections2 x SFAS1070013

per SC Total K&K-Item Marking

Washer Ø 10,5 DIN125 form B A21 x 2 x 3430014
.

Cheese head screw  M10 x 30 DIN912 A21 x 2 x 3400162
.

HPL panel fastening to roof pipe support36 x SFAS1240029

per SC Total K&K-Item Marking

Washer Ø 10,5 DIN125 form B A21 x 36 x 3430014
.

hexagon cap nut  M10 DIN986  A21 x 36 x 3430011
.

mushroom head screw square neck M10x30 DIN 601 x 36 x 3400138
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

041310500
Combi slide

List of screw connections

1295337

Page 3 / 4

Roof hood fastening on HPL panels3 x SFAS1240032

per SC Total K&K-Item Marking

Washer Ø 8.4 DIN9021 A21 x 3 x 3430102
.

Dome head screw M8x20 A2 Security Torx TR401 x 3 x 3400673
.

Security TORX wrench TR401 x SFWZ0000001

per SC Total K&K-Item Marking

Allen key security TORX TR401 x 1 x 3490081
.

Allen key security hex socket AF81 x SFWZ0000005

per SC Total K&K-Item Marking

Allen key security hex socket AF81 x 1 x 3490057
.

Hexagon insert socket driver 10mm 1/2"1 x SFWZ0000009
with borehole for Pin

per SC Total K&K-Item Marking

with drill hole for Pin
Hexagon insert socket driver 10 mm 1/2"1 x 1 x 2030170

.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

041310500
Combi slide

List of screw connections

1295337

Page 4 / 4

Lubricating metal (30 g box) incl. brush1 x SFWZ0000012

per SC Total K&K-Item Marking

Lubricating metal box 30g1 x 1 x 5300039
.

Brush for lubricating metal1 x 1 x 5200026
.

Reinforcing steel bar for posts12 x SFAS1270001

per SC Total K&K-Item Marking

Reinforcing steel Ø 10 x 310 DIN 4881 x 12 x 2130000
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24


	Pläne und Ansichten
	041310500m_me_mf-1
	041310500m_me_mf-2
	041310500m_me_mf-3
	041310500m_me_mf-4
	041310500m_me_mf-5
	041310500m_me_mf-6


